

County Distribution Detail Report through 10/03/2024

۸	u	ro	ra
м	u	ıu	ıa

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,166	2,213	37	3,416	\$6,832.00	\$141.16	\$6,690.84	0.70	\$4,683.59
							Entity	Total:	\$4,683.59
							Adjust	ment:	\$0.00
							Total A	Amount:	\$4,683.59
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,333	11,812	1,925	15,070	\$30,140.00	\$619.36	\$29,520.64	0.70	\$20,664.45
							Entity 1	Total:	\$20,664.45
							Adjust	ment:	\$0.00
							Total A	Amount:	\$20,664.45
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	799	1,288	3	2,090	\$4,180.00	\$92.34	\$4,087.66	0.70	\$2,861.36
							Entity 1	Total:	\$2,861.36
							Adjust	ment:	\$0.00
							Total A	Amount:	\$2,861.36
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,391	4,470	73	5,934	\$11,868.00	\$238.70	\$11,629.30	0.70	\$8,140.51
							Entity 1	Total:	\$8,140.51
							Adjust	ment:	\$0.00
							Total A	Amount:	\$8,140.51
Brookings									

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	8,386	24,491	1,327	34,204	\$68,408.00	\$1,430.72	\$66,977.28	0.70	\$46,884.10
							Entity '	Total:	\$46,884.10
							Adjust	ment:	\$0.00
							Total A	Amount:	\$46,884.10
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	4,633	29,907	2,952	37,492	\$74,984.00	\$1,566.43	\$73,417.57	0.70	\$51,392.30
							Entity ¹	Total:	\$51,392.30
							Adjust	ment:	\$0.00
							Total A	Amount:	\$51,392.30
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,053	4,088	92	6,233	\$12,466.00	\$250.88	\$12,215.12	0.70	\$8,550.58
							Entity ¹	Total:	\$8,550.58
							Adjust	ment:	\$0.00
							Total A	Amount:	\$8,550.58
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	528	507	1	1,036	\$2,072.00	\$41.44	\$2,030.56	0.70	\$1,421.39
							Entity ¹	Total:	\$1,421.39
							Adjust	ment:	\$0.00
							Total A	Amount:	\$1,421.39
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,454	7,438	297	9,189	\$18,378.00	\$386.22	\$17,991.78	0.70	\$12,594.25
							Entity '	Total:	\$12,594.25
							Adjust	ment:	\$0.00
							Total A	Amount:	\$12,594.25
Campbell									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	527	1,443	16	1,986	\$3,972.00	\$83.60	\$3,888.40	0.70	\$2,721.88
							Entity ⁻	Γotal:	\$2,721.88
							Adjust	ment:	\$0.00
							Total A	mount:	\$2,721.88
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,059	6,010	16	8,085	\$16,170.00	\$324.79	\$15,845.21	0.70	\$11,091.65
							Entity ⁻	Γotal:	\$11,091.65
							Adjust	ment:	\$0.00
							Total A	mount:	\$11,091.65
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2	3,061	87	3,150	\$6,300.00	\$125.48	\$6,174.52	0.70	\$4,322.16
							Entity ⁻	Γotal:	\$4,322.16
							Adjust	ment:	\$0.00
							Total A	mount:	\$4,322.16
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	461	3,506	102	4,069	\$8,138.00	\$197.81	\$7,940.19	0.70	\$5,558.13
							Entity ⁻	Γotal:	\$5,558.13
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,558.13
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	698	12,148	1,875	14,721	\$29,442.00	\$595.69	\$28,846.31	0.70	\$20,192.42
							Entity ⁻	Γotal:	\$20,192.42
							Adjust	ment:	\$0.00
							Total A	mount:	\$20,192.42

City of Sioux Falls, Lincoln (**VOIP Lines Reporting Period Telecom Lines** Wireless Lines **Total Lines** Surcharge Admin Fee Net Surcharge **Entity Percent Entity Amount** 8/2024 1,628 34,970 5,189 41,787 \$83,574.00 \$1,658.69 \$81,915.31 0.70 \$57,340.72 **Entity Total:** \$57,340.72 Adjustment: \$0.00 **Total Amount:** \$57,340.72 C C C

Clark							, otal 7		401,010.12
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	935	2,656	80	3,671	\$7,342.00	\$156.70	\$7,185.30	0.70	\$5,029.71
							Entity ⁻	Total:	\$5,029.71
							Adjust	ment:	\$0.00
							Total A	Amount:	\$5,029.71
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	598	8,367	730	9,695	\$19,390.00	\$405.84	\$18,984.16	0.70	\$13,288.91
							Entity ⁻	Total:	\$13,288.91
							Adjust	ment:	\$0.00
							Total A	Amount:	\$13,288.91
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,565	21,528	3,229	27,322	\$54,644.00	\$1,149.33	\$53,494.67	0.70	\$37,446.27
							Entity ⁻	Total:	\$37,446.27
							Adjust	ment:	\$0.00
							Total A	Amount:	\$37,446.27
Corson									
Reporting Period	-	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	Telecom Lines	Wileless Lilles							
8/2024	1 elecom Lines 655	1,108	543	2,306	\$4,612.00	\$95.92	\$4,516.08	0.70	\$3,161.26
8/2024			543	2,306	\$4,612.00	\$95.92	\$4,516.08 Entity ⁻		\$3,161.26 \$3,161.26
8/2024			543	2,306	\$4,612.00	\$95.92		Total:	

								Adjustment: Total Amount:		
Corson									\$37,446.27	
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
8/2024	655	1,108	543	2,306	\$4,612.00	\$95.92	\$4,516.08	0.70	\$3,161.26	
							Entity ⁻	Total:	\$3,161.26	
							Adjust	ment:	\$0.00	

							Total A	mount:	\$3,161.26
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,711	7,143	63	9,917	\$19,834.00	\$429.53	\$19,404.47	0.70	\$13,583.13
							Entity ⁻	Total:	\$13,583.13
							Adjust	ment:	\$0.00
							Total A	mount:	\$13,583.13
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,524	16,039	1,539	20,102	\$40,204.00	\$831.75	\$39,372.25	0.70	\$27,560.58
							Entity ⁻	Total:	\$27,560.58
							Adjust	ment:	\$0.00
_							Total A	mount:	\$27,560.58
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,397	3,938	218	5,553	\$11,106.00	\$225.72	\$10,880.28	0.70	\$7,616.20
							Entity ⁻	Total:	\$7,616.20
							Adjust	ment:	\$0.00
							Total A	mount:	\$7,616.20
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,199	3,302	137	4,638	\$9,276.00	\$191.27	\$9,084.73	0.70	\$6,359.31
							Entity ⁻	Total:	\$6,359.31
							Adjust	ment:	\$0.00
							Total A	mount:	\$6,359.31
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	962	2,326	9	3,297	\$6,594.00	\$136.39	\$6,457.61	0.70	\$4,520.33
							Entity ⁻	Total:	\$4,520.33

							Adjust	ment:	\$0.00
							Total A	mount:	\$4,520.33
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	846	3,237	137	4,220	\$8,440.00	\$170.16	\$8,269.84	0.70	\$5,788.89
							Entity ⁻	Γotal:	\$5,788.89
							Adjusti	ment:	\$0.00
							Total A	mount:	\$5,788.89
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,420	5,400	35	7,855	\$15,710.00	\$327.46	\$15,382.54	0.70	\$10,767.78
							Entity ⁻	Γotal:	\$10,767.78
							Adjust	ment:	\$0.00
							Total A	mount:	\$10,767.78
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	581	1,709	47	2,337	\$4,674.00	\$93.62	\$4,580.38	0.70	\$3,206.27
							Entity ⁻	Γotal:	\$3,206.27
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,206.27
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,107	5,887	536	7,530	\$15,060.00	\$335.26	\$14,724.74	0.70	\$10,307.32
							Entity ⁻	Γotal:	\$10,307.32
							Adjust	ment:	\$0.00
							Total A	mount:	\$10,307.32
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,433	3,658	9	5,100	\$10,200.00	\$232.99	\$9,967.01	0.70	\$6,976.91

							Entity ⁻	Total:	\$6,976.91
							Adjust	ment:	\$0.00
							Total A	mount:	\$6,976.91
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	839	1,394	4	2,237	\$4,474.00	\$90.46	\$4,383.54	0.70	\$3,068.48
							Entity ⁻	Total:	\$3,068.48
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,068.48
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,147	4,462	118	5,727	\$11,454.00	\$231.98	\$11,222.02	0.70	\$7,855.41
							Entity ⁻	Total:	\$7,855.41
							Adjust	ment:	\$0.00
							Total A	mount:	\$7,855.41
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	526	2,794	370	3,690	\$7,380.00	\$151.29	\$7,228.71	0.70	\$5,060.10
							Entity ⁻	Total:	\$5,060.10
							Adjust	ment:	\$0.00
							Total A	amount:	\$5,060.10
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	628	3,303	37	3,968	\$7,936.00	\$163.98	\$7,772.02	0.70	\$5,440.41
							Entity ⁻	Total:	\$5,440.41
							Adjust	ment:	\$0.00
							Total A	amount:	\$5,440.41
Harding									

Reporting Period

Telecom Lines

Wireless Lines

VOIP Lines

Total Lines

Surcharge

Admin Fee

Net Surcharge

Entity Percent

Entity Amount

8/2024	566	907	1	1,474	\$2,948.00	\$67.54	\$2,880.46	0.70	\$2,016.32
							Entity 1	Γotal:	\$2,016.32
							Adjusti	ment:	\$0.00
							Total A	mount:	\$2,016.32
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	483	3,308	160	3,951	\$7,902.00	\$195.08	\$7,706.92	0.70	\$5,394.84
							Entity 7	Γotal:	\$5,394.84
							Adjusti	ment:	\$0.00
							Total A	mount:	\$5,394.84
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,156	5,598	48	7,802	\$15,604.00	\$314.61	\$15,289.39	0.70	\$10,702.57
							Entity 1	Γotal:	\$10,702.57
							Adjusti	ment:	\$0.00
							Total A	mount:	\$10,702.57
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	533	1,047	12	1,592	\$3,184.00	\$64.07	\$3,119.93	0.70	\$2,183.95
							Entity 7	Γotal:	\$2,183.95
							Adjusti	ment:	\$0.00
							Total A	mount:	\$2,183.95
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	513	978	10	1,501	\$3,002.00	\$60.59	\$2,941.41	0.70	\$2,058.99
							Entity 1	Γotal:	\$2,058.99
							Adjusti	ment:	\$0.00
							Total A	mount:	\$2,058.99
Jerauld									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	644	1,452	17	2,113	\$4,226.00	\$84.86	\$4,141.14	0.70	\$2,898.80
							Entity '	Total:	\$2,898.80
							Adjust	ment:	\$0.00
							Total A	amount:	\$2,898.80
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	412	744	18	1,174	\$2,348.00	\$47.69	\$2,300.31	0.70	\$1,610.22
							Entity [·]	Total:	\$1,610.22
							Adjust	ment:	\$0.00
							Total A	amount:	\$1,610.22
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	722	4,186	297	5,205	\$10,410.00	\$226.80	\$10,183.20	0.70	\$7,128.24
							Entity ¹	Total:	\$7,128.24
							Adjust	ment:	\$0.00
							Total A	amount:	\$7,128.24
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,417	9,986	1,049	12,452	\$24,904.00	\$533.20	\$24,370.80	0.70	\$17,059.56
							Entity [·]	Total:	\$17,059.56
							Adjust	ment:	\$0.00
							Total A	amount:	\$17,059.56
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	4,053	20,361	1,784	26,198	\$52,396.00	\$1,111.66	\$51,284.34	0.70	\$35,899.04
							Entity ¹	Total:	\$35,899.04
							Adjust	ment:	\$0.00
							Total A	mount:	\$35,899.04
Lincoln									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,145	28,535	3,173	33,853	\$67,706.00	\$1,478.64	\$66,227.36	0.70	\$46,359.15
							Entity ⁻	Γotal:	\$46,359.15
							Adjust		\$0.00
							Total A	mount:	\$46,359.15
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	999	1,957	356	3,312	\$6,624.00	\$133.12	\$6,490.88	0.70	\$4,543.62
							Entity ⁻	Γotal:	\$4,543.62
							Adjust	ment:	\$0.00
							Total A	mount:	\$4,543.62
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,183	3,305	156	4,644	\$9,288.00	\$195.73	\$9,092.27	0.70	\$6,364.59
							Entity ⁻	Γotal:	\$6,364.59
							Adjust	ment:	\$0.00
							Total A	mount:	\$6,364.59
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,422	4,728	7	6,157	\$12,314.00	\$250.46	\$12,063.54	0.70	\$8,444.48
							Entity ⁻	Γotal:	\$8,444.48
							Adjust	ment:	\$0.00
							Total A	mount:	\$8,444.48
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	746	1,659	5	2,410	\$4,820.00	\$109.97	\$4,710.03	0.70	\$3,297.02
							Entity ⁻	Γotal:	\$3,297.02
							Entity ⁻ Adjust		\$3,297.02 \$0.00

Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,639	21,249	1,011	23,899	\$47,798.00	\$1,002.16	\$46,795.84	0.70	\$32,757.09
							Entity ⁻	Total:	\$32,757.09
							Adjust	ment:	\$0.00
							Total A	mount:	\$32,757.09
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	472	760	41	1,273	\$2,546.00	\$51.30	\$2,494.70	0.70	\$1,746.29
							Entity ⁻	Total:	\$1,746.29
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,746.29
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	781	1,796	20	2,597	\$5,194.00	\$104.64	\$5,089.36	0.70	\$3,562.55
							Entity ⁻	Total:	\$3,562.55
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,562.55
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	16,084	167,389	20,939	204,412	\$408,824.00	\$8,678.84	\$400,145.16	0.70	\$280,101.61
							Entity ⁻	Total:	\$280,101.61
							Adjust	ment:	\$0.00
							Total A	mount:	\$280,101.61
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	794	5,264	125	6,183	\$12,366.00	\$267.02	\$12,098.98	0.70	\$8,469.29
							Entity ⁻	Total:	\$8,469.29

Adjustment:

\$0.00

Pennington							Total A	anount.	Ф 0,409.29
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	11,683	93,838	9,958	115,479	\$230,958.00	\$4,858.10	\$226,099.90	0.70	\$158,269.93
							Entity ⁻	Total:	\$158,269.93
							Adjust	ment:	\$0.00
							Total A	mount:	\$158,269.93
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,466	2,412	5	3,883	\$7,766.00	\$165.27	\$7,600.73	0.70	\$5,320.51
							Entity ⁻	Γotal:	\$5,320.51
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,320.51
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	859	1,971	21	2,851	\$5,702.00	\$114.74	\$5,587.26	0.70	\$3,911.08
							Entity ⁻	Γotal:	\$3,911.08
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,911.08
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,655	5,720	33	8,408	\$16,816.00	\$360.51	\$16,455.49	0.70	\$11,518.84
							Entity ⁻	Γotal:	\$11,518.84
							Adjust	ment:	\$0.00
							Total A	mount:	\$11,518.84
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	607	1,924	13	2,544	\$5,088.00	\$103.90	\$4,984.10	0.70	\$3,488.87
							Entity ⁻	Total:	\$3,488.87

Total Amount:

\$8,469.29

							Adjustment:		\$0.00
							Total A	mount:	\$3,488.87
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,067	4,937	453	6,457	\$12,914.00	\$268.62	\$12,645.38	0.70	\$8,851.77
							Entity ⁻	Total:	\$8,851.77
							Adjust	ment:	\$0.00
							Total A	mount:	\$8,851.77
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	230	2,483	377	3,090	\$6,180.00	\$127.77	\$6,052.23	0.70	\$4,236.56
							Entity ⁻	Total:	\$4,236.56
							Adjust	ment:	\$0.00
							Total A	mount:	\$4,236.56
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	513	1,298	4	1,815	\$3,630.00	\$74.48	\$3,555.52	0.70	\$2,488.86
							Entity ⁻	Total:	\$2,488.86
							Adjust	ment:	\$0.00
							Total A	mount:	\$2,488.86
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	59	4	63	\$126.00	\$12.91	\$113.09	0.70	\$79.16
							Entity ⁻	Total:	\$79.16
							Adjustment:		\$0.00
							Total Amount:		\$79.16
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,856	4,163	11	6,030	\$12,060.00	\$245.63	\$11,814.37	0.70	\$8,270.06

Entity Total:	\$8,270.06
Adjustment:	\$0.00

Total Amount: \$8,270.06

	rr	r

Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,344	7,008	82	8,434	\$16,868.00	\$339.77	\$16,528.23	0.70	\$11,569.76
							Entity ⁻	Γotal:	\$11,569.76
							Adjust	ment:	\$0.00
							Total A	mount:	\$11,569.76
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,859	12,130	624	14,613	\$29,226.00	\$684.22	\$28,541.78	0.70	\$19,979.25
							Entity ⁻	Γotal:	\$19,979.25
							Adjust	ment:	\$0.00
							Total A	mount:	\$19,979.25
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	1,179	3,946	519	5,644	\$11,288.00	\$228.81	\$11,059.19	0.70	\$7,741.43
							Entity ⁻	Γotal:	\$7,741.43
							Adjust	ment:	\$0.00
							Total A	mount:	\$7,741.43
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	2,132	19,220	1,870	23,222	\$46,444.00	\$977.41	\$45,466.59	0.70	\$31,826.61
							Entity ⁻	Γotal:	\$31,826.61
							Adjust	ment:	\$0.00
							Total A	mount:	\$31,826.61
TOTALS	115,405	691,921	65,036	872,362	\$1,744,724.00	\$36,713.08	\$1,708,010.92		